1. On January 1, 2007, a company issued $12 million face amount of 20-year, 14% stated rate bonds when market interest rates were 16%. The bonds pay interest semiannually each June 30 and December 31 and mature December 31, 2026.

a. calculate the proceeds (issue price) of the companies bonds on January 1, 2007, assuming that the bonds were sold to provide a market rate of return to the investor.

b. assume instead that the proceeds were $12,400,000. Use the horizontal model (or write journal entry) to record the payment of semiannual interest and the related premium amortization on June 30, 2007, assuming that the premium of 400,000 is amortized on a straight line basis.

c. If the premium in b. were amortized using the compound interest method, would interest expense for the year ended December 31, 2007, be more than, less than, or equal to the interest expense reported using the straight-line method of premium amortization and why?

d. what causes the stated rate to be different from the market rate, and why is the difference likely to be much less than depicted in this problem (a.).
Interest Rate

	No. of 

Periods
	4%
	6%
	8%
	10%
	12%
	14%
	16%
	18%
	20%
	22%

	1
	.9615
	.9434
	.9259
	.9091
	.8929
	.8772
	.8621
	.8475
	.8333
	.8197

	2
	.9246
	.8900
	.8573
	.8264
	.7972
	.7695
	.7432
	.7182
	.6944
	.6719

	3
	.8890
	.8396
	.7938
	.7513
	.7118
	.6750
	.6407
	.6086
	.5787
	.5507

	4
	.8548
	.7921
	.7350
	.6830
	.6355
	.5921
	.5523
	.5158
	.4823
	.4514

	5
	.8219
	.7473
	.6806
	.6209
	.5674
	.5194
	.4761
	.4371
	.4019
	.3700

	
	
	
	
	
	
	
	
	
	
	

	6
	.7903
	.7050
	.6302
	.5645
	.5066
	.4556
	.4104
	.3704
	.3349
	.3033

	7
	.7599
	.6651
	.5835
	.5132
	.4523
	.3996
	.3538
	.3139
	.2791
	.2486

	8
	.7307
	.6274
	.5403
	.4665
	.4039
	.3506
	.3050
	.2660
	.2326
	.2038

	9
	.7026
	.5919
	.5002
	.4241
	.3606
	.3075
	.2630
	.2255
	.1938
	.1670

	10
	.6756
	.5584
	.4632
	.3855
	.3220
	.2697
	.2267
	.1911
	.1615
	.1369

	
	
	
	
	
	
	
	
	
	
	

	11
	.6496
	.5268
	.4289
	.3505
	.2875
	.2366
	.1954
	.1619
	.1346
	.1122

	12
	.6246
	.4970
	.3971
	.3186
	.2567
	.2076
	.1685
	.1372
	.1122
	.0920

	13
	.6006
	.4688
	.3677
	.2897
	.2292
	.1821
	.1452
	.1163
	.9035
	.0754

	14
	.5775
	.4423
	.3405
	.2633
	.2046
	.1597
	.1252
	.0985
	.0779
	.0618

	15
	.5553
	.4173
	.3152
	.2394
	.1827
	.1401
	.1079
	.0835
	.0649
	.0507

	
	
	
	
	
	
	
	
	
	
	

	16
	.5339
	.3936
	.2919
	.2176
	.1631
	.1229
	.0930
	.0708
	.0541
	.0415

	17
	.5134
	.3714
	.2703
	.1978
	.1456
	.1078
	.0802
	.0600
	.0451
	.0340

	18
	.4936
	.3503
	.2502
	.1799
	.1300
	.0946
	.0691
	.0508
	.0376
	.0279

	19
	.4746
	.3305
	.2317
	.1635
	.1161
	.0829
	.0596
	.0431
	.0313
	.0229

	20
	.4564
	.3118
	.2145
	.1486
	.1037
	.0728
	.0514
	.0365
	.0261
	.0187

	
	
	
	
	
	
	
	
	
	
	

	21
	.4388
	.2942
	.1987
	.1351
	.0926
	.0638
	.0443
	.0309
	.0217
	.0154

	22
	.4220
	.2775
	.1839
	.1228
	.0826
	.0560
	.0382
	.0262
	.0181
	.0126

	23
	.4057
	.2618
	.1703
	.1117
	.0738
	.0491
	.0329
	.0222
	.0151
	.0103

	24
	.3901
	.2470
	.1577
	.1015
	.0659
	.0431
	.0284
	.0188
	.0126
	.0085

	25
	.3751
	.2330
	.1460
	.0923
	.0588
	.0378
	.0245
	.0160
	.0105
	.0069

	
	
	
	
	
	
	
	
	
	
	

	30
	.3083
	.1741
	.0994
	.0573
	.0334
	.0196
	.0116
	.0070
	.0042
	.0026

	35
	.2534
	.1301
	.0676
	.0356
	.0189
	.0102
	.0055
	.0030
	.0017
	.0009

	40
	.2083
	.0972
	.0460
	.0221
	.0107
	.0053
	.0026
	.0013
	.0007
	.0004

	45
	.1712
	.0727
	.0313
	.0137
	.0061
	.0027
	.0013
	.0006
	.0003
	.0001

	50
	.1407
	.0543
	.0213
	.0085
	.0035
	.0014
	.0006
	.0003
	.0001
	.0000


2. Enter the transaction letter in the first column and show the effect (if any) of each of the following transactions on each financial statement category by entering a plus (+) or minus (-) sign and the amount in the appropriate column (don’t show items that affect net income in the retained earnings column) (the transactions occurred in the same chronological sequence listed below).

a. Sold 2,600 shares of $10 par value preferred stock at $12.50 per share

b. Declared annual cash dividend of $3.20 per share on common stock. (9,200 shares of common stock were issued and outstanding throughout the year)

c. Issued 3,200 shares of $10 par value preferred stock in exchange for a building when the market price of preferred stock was $14 per share

d. Purchased 150 shares of preferred stock for the treasury at a price of $16 per share

e. Sold 70 shares of preferred stock held in treasury (see d) for $17 per share

f. Declared and issued a 15% stock dividend on the $1 par value common stock when the market price per share was $45 

	
	Transaction/

Adjustment
	Current

Assets
	Noncurrent

Assets
	Current

Liabilities
	Noncurrent

Liabilities
	Owners’

Equity
	Net

Income

	a.
	
	
	
	
	
	
	

	b.
	
	
	
	
	
	
	

	c.
	
	
	
	
	
	
	

	d.
	
	
	
	
	
	
	

	e.
	
	
	
	
	
	
	

	f.
	
	
	
	
	
	
	


3. Accounting records for company, year ended December 31, 2007
Selling, general, and administrative expenses……………………………………………………….….$102,000

Accounts payable……………………………………………………………………………..……………….……..$170,000

Extraordinary gain from lawsuit settlement, net of tax expense of $56,000….…….…..$208,000

Research and development expenses………………………………………………………………...………$74,000

Loss from discounted operations net of tax savings of $10,000………………………..…..……$32,000

Provision for income taxes…………………………………………………………………………….….………$148,000

Net sales……………………………………………………………………………………………………….……….$1,158,000

Interest expense…………………………………………………………………………………………………..…..$128,000

Net cash provided by operations………………………………………………………………………………$296,000

Cost of goods sold………………………………………………………………………………………….…………$544,000
a. Calculate the operating income for the year ended December 31, 2007

b. Calculate the company’s net income for 2007
